Chapter 11: Memory
100 MCQs
1.

Which of the following is NOT an example of memory?

A.

A student brings to mind what was taught for an exam

B.

A student uses information from a lecture, though he doesn’t remember the lecture

C.

A student develops an interest in social psychology after a lecture on it

D.

None of the above

2.

To a psychologist, memory plays a role when:

A.

Someone can bring to mind something that occurred previously

B.

Someone’s behaviour changes as a result of a previous experience

C.

Both (a) and (b). 

D.

Neither (a) nor (b).

3.

A few weeks ago you hear a sad poem about trees, which of the following is an example of a memory of this poem?
A.

You recall the words of the poem

B.

You hear the poem, and it sounds familiar but you don’t recognize it

C.

You have no recognition of the poem at all, but every time you think of trees you feel sad

D.

All of the above

4.

Which of the following is true? For an event (or information) to influence memory, it is important at the time of the event that:

A.

The person knows they will want to remember it in the future.

B.

The person has some experience of the event (or information). 

C.

The person tries very hard to ‘record’ the event (or information).

D.

The person plans to study.

5.

Which of the following questions contains a time cue?
A.

Who was sitting there?

B.

How many French fries did you want with that?

C.

What did you do last Friday night?

D.

Have you seen Jenny lately?

6.

Free recall can be defined as:

A.

Bringing information to mind in response to non-specific cues. 

B.

Bringing information to mind in response to specific cues.

C.

Identifying information provided at test time as having been encountered previously.

D.

Responding differently to previously encountered information than to new information.

7.

Which of the following questions would NOT elicit a free recall response?

A.

Contrast Piaget’s developmental stages with those of Erikson.

B.

Where did you go Friday night after you left the pub?

C.

What are your favourite foods?

D.

None of the above

8.

Which of the following questions would elicit a cued recall response?

A.

What ages are associated with Piaget’s concrete operational stage?

B.

Why do we sometimes remember things that did not happen?
C.

How does cognitive functioning change throughout development?
D.

All of the above
9.

If you recall information in response to a directive cue then you have used ________.


A.

Free recall

B.

Cued recall

C.

Cue overload

D.

Recognition

10.

The cue overload principle refers to:

A.

The tendency for people to use more cues when they need to remember more information.

B.

The proportionately greater strength of the first cue compared to all others.

C.

The tendency for people to remember a larger proportion with cued recall than with free recall.

D.

The tendency for people to remember a smaller proportion of information when more information is linked to one cue. 

11.

Identify the accurate definition of recognition:

A.

Bringing information to mind in response to non-specific cues.

B.

Bringing information to mind in response to specific cues.

C.

Identifying information provided at test time as having been encountered previously. 

D.

Responding differently to previously encountered information than to new information.

12.

Which type of question targets a student’s ability to recognize information?
A.

True-false
B.

Matching

C.

Multiple choice

D.

All of the above

13.

Which of the following adages defines the effect of familiarity on memory?
A.

There are no strangers only friends you haven’t met yet

B.

Familiarity breeds contempt

C.

All publicity is good publicity

D.

None of the above

14.

What is the result after a participant has been primed with the information, “the largest dam in the world is in Pakistan?”
A.

They remember being primed

B.

They believe the largest dam is in Pakistan

C.

They believe, accurately, that the largest dam in the world is in China

D.

They become confused and have to look the answer up

15.

If people have been primed with the word computer, and then given a task to fill in the following word ‘c_ _put_r,’ what happens next?
A.

They solve the task more quickly

B.

They take longer to solve the task

C.

They can think of more words to solve the task

D.

Both A and C

16.

Which is NOT an example of priming?

A.

Showing stereotypical words about old people and then watching how quickly people walk to the lift
B.

Telling students about minority stereotypes and then observing how well they do on a maths test
C.

Turning off the lights during a questionnaire, and examining participants responses to minority groups

D.

None of the above

17.

When people have studied lists of words, their memory is influenced by word frequency (i.e. by how frequently the words appear in written material). Which of the following statements is true in relation to word frequency and memory tests?

A.

Recall and recognition are both better for high-frequency words.

B.

Recall is better for high-frequency words and recognition is better for low-frequency words. 

C.

Recall and recognition are both better for low-frequency words.

D.

Recall is better for low-frequency words and recognition is better for high-frequency words.

18.

The book asserts that memory is not a single, straightforward system or process, but seems to be more complex. Which of the following statements supports this conclusion?

A.

When memory is inferred from different behaviours (or measures), different outcomes are obtained. 

B.

Memory can occur without an intention to remember.

C.

Memory can be inferred from behaviour, but not observed directly.

D.

People have poor memory for many familiar things.

19.

What is the correct continuum from which memory is inferred?
A.

Recognition…cued recall…familiarity

B.

Familiarity…recognition…unconscious influence

C.

Free recall…recognition…familiarity

D.

Unconscious influence…free recall…cued recall

20.

Neisser (1967) likened remembering to the task of a palaeontologist constructing a dinosaur skeleton. Which of the following points was the analogy used to emphasize?

A.

How difficult remembering is.

B.

How memories, like dinosaur bones, lose the connecting tissue but are often found close together.

C.

How remembering involves both general knowledge and specific past events. 

D.

How psychology and palaeontology are similar sciences.

21.

The method MOST OFTEN used in memory research is: 

A.

Experiments. 

B.

Surveys.

C.

Interviews.

D.

Observations.

22.

Can memory be observed?

A.

No, but it can be inferred from performance on tasks. 

B.

No, but test performance can be observed and it’s the same thing.

C.

Yes, by scanning brain activity.

D.

Yes, by asking people what they remember and being sure their reports are accurate and complete.

23.

In the sleep learning experiment (Wood, Bootzin, Kihlstrom & Schacter, 1992) experimenters read lists of categorized words (e.g., a metal – gold) to people while they were asleep or while they were awake. Afterwards people were asked to report words in those categories and in other categories that were not read to them. The results of the experiment were:

A.

Learning while awake was the best, but sleep learning was better than not having the words read at all.

B.

Learning while awake was the best; sleep learning was no better than not having the words read at all. 

C.

Learning while awake and while asleep were equally good; both were better than not having the words read at all.

D.

Learning while awake was not quite as good as sleep learning, and both were better than not having the words read at all.

24.

If a memory is not available how is it inferred?

A.

Cued recall

B.

Free recall

C.

Familiarity

D.

Unconscious influence

25.

How does a constructivist describe memory?

A.

Influence of a person’s experience
B.

Combined influences of the world and the person’s own expectations
C.

Combined influences of biological and social factors
D.

Like a video recording
26.

Which of the following does NOT influence a person’s memory of a film?
A.

The movie

B.

Hating one of the actors

C.

Having to visit the toilet half-way through

D.

None of the above

27.

Which of the following statements is TRUE?
A.

It is easy to distinguish a constructed memory from a real memory

B.

People are usually aware of when they construct a memory

C.

Constructed memory often seems as real as a recollected memory

D.

People know what must have happened to lead to a constructed memory

28.

Who was the first psychologist to study memory systematically?
A.

Freud

B.

Ebbinghaus

C.

Piaget

D.

Erikson

29.

Which is NOT a condition that could be manipulated in order to study memory?

A.

Familiarity of the material

B.

Degree of similarity between the study and test conditions

C.

Level of motivation to learn

D.

None of the above

30.

What have researchers used to study memory?

A.

Nonsense syllables, words, numbers, pictures

B.

Texts, stories, poems

C.

Appointments, life events

D.

All of the above

31.

Most systematic investigations of memory have been _______.
A.

In the field and involved keeping information on past appointments

B.

In the field and involved taking random memory tests on a hand-held computer
C.

Conducted in a laboratory and involved a set of to-be-remembered materials

D.

Conducted in a laboratory and involved writing stories of past events

32.

If you are given a list of animals to study, and then later asked to write down the first 15 animals that come to mind, what explains the matches between the two lists?
A.

You consciously recalled the information from the past list

B.

The past list caused unconscious influence on your recall

C.

Both lists were thought of by thinking of animals and the overlap is coincidental

D.

All of the above

33.

In order to properly examine memory, many researchers compare differences between a control and experimental group, what is essential for good research?

A.

Both groups are given the ‘past event’

B.

Both groups are studied at different times

C.

There are no other differences between the groups except for what is introduced in the experiment

D.

Both groups contain both males and females

34.

An experimenter is interested in whether priming works when we are asleep. He reads out the words ‘metal, gold’ while people sleep and then asked them to list as many metals as possible upon waking. He then compared their results to a control group. What is wrong with this methodology?
A.

Priming when a person sleeps does not work

B.

Many people when asked to think of metals would include gold

C.

There is nothing wrong, he used a control group

D.

Both A and B
35.

A study shows that people who are primed with words while awake are twice as likely to report the target words as people who were primed when sleeping. Does this show that priming while sleeping does NOT work?
A.

No, sleepers could have been primed, just not as much as awake participants

B.

Yes, the awake group served as a control for the asleep group

C.

No, a control group of awake and asleep but not primed participants is necessary

D.

Both A and C

36.

Tulving (1983) makes a distinction between episodic and semantic memory. What is the difference between these notions?

A.

Semantic memories occur frequently but episodic ones do not.

B.

Episodic memories occur frequently but semantic ones do not.

C.

Semantic memories are of events that were experienced but episodic memories are of information without reference to the original event.

D.

Episodic memories are of events that were experienced, but semantic memories are of information without reference to the original event. 

37.

Which is NOT an example of semantic memory?
A.

The world’s largest ocean is the Pacific

B.

Class on Tuesday was so boring

C.
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D.

Singing ‘God save the Queen’

38.

Knowing what you ate for breakfast today is an example of what kind of memory?

A.

Episodic memory

B. 

Semantic memory

C.

Autobiographical memory

D.

Sensory memory
39.

If you can remember when you were five, and it was the first time you saw a film in a cinema you are experiencing ____.

A.

Episodic memory

B.

Semantic memory

C.

Autobiographical memory

D.

Both A and C

40.

One sub-division of memory is between declarative and procedural knowledge (Anderson, 1976; 1995). Which of the following descriptions makes a correct distinction between the two?

A.

Declarative knowledge includes only that which you have actually stated, whereas procedural knowledge is all unstated knowledge.

B.

Declarative knowledge includes that which people are consciously aware of, whereas procedural knowledge includes how to do things. 

C.

Procedural knowledge includes only that that can be explained in steps, whereas declarative knowledge is not organized that way.

D.

Procedural knowledge is rule-based whereas declarative knowledge is more flexible.

41.

Which is NOT an example of declarative knowledge?
A.

You ate cold cereal for breakfast

B.

Your favourite show is ‘Dr. Who’

C.

You know how to drive a car

D.

Your sister’s boyfriend’s brother’s name is Tim

42.
Which is NOT an example of procedural knowledge?
A.

Typing

B.

Listing all of the kings of England

C.

Riding a bicycle

D.

All of the above

43.

If you pass by a fish counter in the supermarket, and decide later that evening to have fish for dinner, you have possibly experienced a(n) ________?
A.

Implicit memory

B.

Explicit memory

C.

Declarative memory

D.

Procedural memory

44.

What happens when a person with amnesia is primed before given a word completion task (e.g., what is this word p__s_n)?
A.

They are unable to complete the word completion task

B.

They are better at completing the word completion task

C.

They are worse at completing the word completion task

D.

None of the above

45.

If a participant is asked to remember words with no contextual information, which kind of memory measure do they perform best on?

A.

Identifying the word in an implicit measure

B.

Recognizing a word in an explicit measure

C.

Both A and B

D.

Neither A nor B

46.

In which study condition did participants in an explicit recognition task show the most improvement?

A.

No context, participants were just given random words to study

B.

Context, participants were shown words with its opposite (man-woman)

C.

Generate, participants were given words (man) and asked to write its opposite (woman)

D.

Participants in the explicit condition did equally well across all conditions

47.

Which of the following statements about implicit and explicit memory are TRUE?

A.

They are distinct but involve the same memory mechanisms

B.

They are distinct and involve independent memory mechanisms

C.

Researchers have stopped studying them because they are essentially the same

D.

None of the above

48.

The implicit/explicit memory distinction is often confused with which types of tasks?

A.

Data-driven/Concept-driven tasks. 

B.

Image-driven/Category-driven tasks.

C.

Concept-driven/Image-driven tasks.

D.

Category-driven/Data-driven tasks.

49.

If you are given a task to complete word fragments (e.g., c_ _put_r), without reference to a studied list, this would be an example of what kind of task?
A.

Implicit

B.

Explicit

C.

Data-driven

D.

Both A and C

50.

Which condition influences ‘remember’ judgments?
A.

Semantic processing (emphasizes the meaning of items)

B.

Acoustic processing (emphasizes the sound of the words)

C.

Both A and B

D.

Neither A nor B

51.

Which, if any, of the following is NOT one of the stages that make up Atkinson and Shiffrin’s (1968) three-stage model of memory processing?

A.

Short-term store.

B.

Mid-term store. 

C.

Long-term store.

D.

None of the above – all are correct.

52.

The long-term memory store _____.
A.

Stores all available information

B.

Holds memory relatively permanently

C.

Is the same as the sensory memory store

D.

All of the above

53.

For how long is information held in short-term memory?

A.

A few seconds

B.

A few minutes

C.

A few hours

D.

A few days

54.

If participants are briefly (for 50 ms) presented with displays of twelve letters, what do they remember?
A.

All 12 letters

B.

Only about 4 letters

C.

They report 4 letters, but may remember more

D.

Nothing, it is presented to quickly

55.

What happens when people use a partial report procedure to report information that they are being asked to remember?
A.

They report less information than when not using the procedure

B.

They can recall memories that do not last long enough to go to short-term store

C.

They can more easily recall long-term memories

D.

They show no improvement in sensory memory retrieval

56.

Which is NOT a sensory memory store?
A.

Iconic memory

B.

Echoic memory

C.

Verbal memory

D.

Both A and B

57.

Which statement about the recency effect is FALSE?

A.

It is defined as the better recall of the last few items encountered

B.

Items are retrieved from short-term store
C.

Disappears if recall is delayed
D.

It shows the unlimited capacity of short-term memory
58.

Which statement about short-term memory is TRUE?

A.

It is stored in terms of meaning

B.

Makes it easier to recall phonetically similar letters (e.g., P, D, B, T) in sequence

C.

It retains information in acoustic form

D.

It makes it easier to remember sentences word for word

59.

Which is NOT a criticism of the information processing model?

A.

Longer rehearsal is not sufficient for long-term retention

B.

Information can only reach long-term memory by passing through the short-term store

C.

Encountering information frequently does not always lead to short-term retention

D.

Information enters long-term memory even when short-term memory is damaged

60.

All of the options below show components of Baddeley’s (1986, 1997, 2001) model of working memory, but one carries an INCORRECT description. Which one is wrong? 

A.

Phonological loop – responsible for ‘inner speech’.

B.

Visuo-spatial sketch pad – responsible for setting up mental images.

C.

Episodic buffer – coordinates the slave systems. 
D.

Central executive – controls attention.
61.

If participants engage in articulatory suppression, what happens?

A.

The phonological loop can not retain further information

B.

The phonological loop retains even greater amounts of information

C.

The episodic buffer has difficulty retrieving information

D.

The episodic buffer has difficulty integrating information

62.

The phonological loop is NOT _________.

A.

Specified as a number of items

B.

Infinite
C.

Defined by a length of time

D.

Affected by memory span

63.
A participant is given a central executive filler task (generating letters that are not meaningful) and asked to perform a second task. What does it mean if the performance on the second task is impaired?

A.

The central executive is not involved in performing the second task

B.

The central executive is not involved in performing the first task

C.

The central executive is involved in performing the second task

D.

None of the above

64.

Which system allows us to imagine an elephant playing ice-hockey?

A.

Central executive

B.

Phonological loop

C.

Visual-spatial sketch pad

D.

Episodic buffer

65.
If you are presented with the word ‘sheep’ and think about the grazing of sheep, the uses for sheep, and in which parts of the world sheep are primarily raised, this would be an example of what level of processing?

A.

Superficial

B.

Phonological

C.

Semantic

D.

Encoding

66.

What does Craik and Lockhart’s (1972; Craik, 2002) ‘levels of processing’ theory predict?

A.

Processing information more often leads to better memory.

B.

Processing information in meaningful ways leads to better memory. 

C.

Processing information in the same way that you will for the test leads to better memory.

D.

All of the above.

67.
Superficial processing of a word before a memory task leads to __% recognition.
A.

5%

B

20%

C.

70%

D.

100%

68.

The encoding specificity principle and the notion of transfer appropriate processing share which one of the following ideas?

A.

What occurs at study time (encoding) and what occurs at test time (retrieval) need to be linked for best memory performance. 

B.

What occurs at study time (encoding) is the most important contributor to whether or not the information can be transferred at test time (retrieval).
C.

What occurs at study time (encoding) is specific, whereas what occurs at test time (retrieval) will generalize and transfer to other times.

D.

Greater demands at study time lead to better memory test conditions.

69.
A participant is a given a series of sentences, one of which was ‘The man tuned the piano.’ According to the encoding specificity principle, they then _____.

A.

Recalled the word piano when cued with ‘something melodious’

B.

Recalled many instruments when cued with ‘something melodious’

C.

Recalled the piano when cued with ‘something heavy’

D.

Became blank when asked to recall the names of instruments
70.

Which statement regarding phonological processing is FALSE?
A.

Phonological processing is better than superficial processing at similar tasks

B.

Semantic processing is always better than phonological processing

C.

Phonological processing can be activated through rhyming tasks 
D.

None of the above
71.

Which statement about memory and the brain is FALSE?

A.

Studying amnesia allows the discrimination between different memory processes
B.

Memory is a complex process involving most other cognitive and emotional aspects
C.

Study of memory has focused exclusively on what people say
D.

Studying amnesia links deficits of remembering to localized brain damage
72.

Patients with hippocampal damage can learn new skills without forming: (select one correct answer)

A.

Episodic memories. 

B.

Semantic memories.

C.

Sensory memories.

D.

All of the above.

73.

McWeeny, Young, Hay and Ellis’s (1987) memory test for names and occupations found that:

A.

Meaningful words presented as names are better remembered than meaningless words presented as occupations.

B.

Meaningless words presented as occupations are better remembered than meaningful words presented as names.

C.

It is easier to learn someone’s name than their occupation.
D.

It is easier to learn someone’s occupation than their name.
74.

Why are names difficult to learn?
A.

We tend to not pay attention when names are said

B.

We do not use names repeatedly and quickly after learning them

C.

Names tend to have few meaningful associations

D.

All of the above

75.

Which technique would easily work in a REAL life situation, like at a party?

A.

Use imagery mnemonics

B.

Frequently test yourself throughout the conversation

C.

Play the ‘Name Game’

D.

All of the above

76.

Bower, Karlin and Dueck’s (1975) research into the recall of droodles found that:

A.

The brain has a major influence on memory.

B.

Age has a major influence on memory.

C.

Meaning has a major influence on memory. 

D.

Intelligence has a major influence on memory.

77.

If I show you a meaningless ‘droodle’ but tell you it is ‘the early bird, who caught a very strong worm,’ how will this affect your memory of the droodle?
A.

You will be unable to remember the droodle

B.

You will only be able to sketch it, and be unable to describe it

C.

You will sketch the picture from memory better than your friend who was not given this advice

D.

Both B and C

78.

You are given this passage: ‘First you arrange the items into different groups. Of course one pile may be sufficient depending on how much there is to do. It is important not to overdo things. That is, it is better to do too few than too many.’ What would help your recall of this passage?

A.

A meaningful title before reading the passage

B.

A meaningful title after reading the passage

C.

Being allowed to read the passage multiple times

D.

All of the above
79..

How did Bartlett (1932) describe schemata?

A.

Inactive organizations of past experiences.
B.

Active organizations of past experiences. 
C.

Inactive predictors of future experiences.
D.

Active predictors of future experiences.
80.
Remembering a long passage is difficult. What is needed to correctly recognize sentences from that passage?
A.

A meaningful title

B.

Multiple reading of the sentences

C.

Nothing, the sentences are encoded separately

D.

Both A and B

81.

Organizing words into a meaningful hierarchy does NOT ________.

A.

Emphasize aspects of the words meanings

B.

Complicate the learning of word lists

C.

Provide a framework for structured recall

D.

Reduce learning time of the words
82.

Learning new information about psychology is ________.

A.

Easier for people with a PhD in psychology

B.

Easier for motivated first year psychology students

C.

Easier for all college students

D.

Easier for lay people with an interest in psychology

83.

If you are told a story about a woman who goes to a restaurant, pays her bill, and then orders and eats her food, what are you likely to report.
A.

She paid her bill then ordered and ate her food

B.

She ordered and ate her food, and then paid her bill

C.

She looked at her menu before ordering

D.

Both B and C

84.

Is it possible to remember without understanding?

A.

Yes, but extra aids help. 

B.

Yes, but only with extra aids.

C.

No, not if there are extra aids.

D.

No, even with extra aids.

85.

The findings of Owens, Bower and Black (1979), Bower, Black and Turner (1979), and similar studies in relation to knowledge and schemas indicate that people tend to do which one of the following?

A.

Remember what is consistent and inconsistent with their schemas in equal measure.

B.

Randomly remember certain pieces of information, regardless of whether or not they are consistent or inconsistent with their schemas.

C.

Make more effort to remember what is inconsistent with their schemas.

D.

Remember what is consistent with their schemas and filter out what is inconsistent.
86.

External memories ______.
A.

Are more simple and imprecise

B.

Are set in a coherent time place

C.

Have more traces of reasoning

D.

Are simple to distinguish from internal memories

87.

Imagine an experiment in which participants are shown a series of slides along with the story of a road traffic accident. Later, the participants are questioned about the event. One of the questions is slightly different for half of the participants, in that it refers to a stop sign instead of a yield (give way) sign. According to what we know about the misinformation effect, what would the participants who were asked the question with the misleading information be likely to do?
A.

Falsely identify the Stop sign in a later recognition memory test. 
B.

Choose the slide with the road sign that they were more familiar with.

C.

Choose the slide with the road sign that they had actually seen.
D.

Falsely identify the colour of the car and other details in a later recognition memory test.

88.

Which statement is NOT true in regards to the misinformation effect?
A.

The effect is minor and has little implication for eyewitness accounts

B.

It is the recall of misleading information after an eyewitness experience

C.

It is possible that the original memories are permanently distorted

D.

It is possible that the questions supply information that otherwise wouldn’t exist

89.

When participants are encouraged to repeat the last few words of a larger list over and over again, what does this result when they are asked to recall the words some time later?

A.

They remember the repeated words better

B.

They have no better memory for the repeated than for the non-repeated words

C.

They remember the non-repeated words better

D.

None of the above

90.

Which, if any, of the following assertions about false memories are INCORRECT? (Please highlight all incorrect answers.)

A.

False memories can be more serious than the misinformation effect.

B.

False memories can be created using misleading information.

C.

Some abusive events that people ‘remember’ are in fact false memories.

D.

None of the above – all are true. 

91.

A distinction is made between maintenance rehearsal and elaborative rehearsal. Which one of the following descriptions of these terms is NOT correct?
A.

Maintenance rehearsal involves repeating information in an effort to maintain its availability.

B.

Recall after a delay is much better when the information has been rehearsed in a maintenance fashion than when rehearsed elaboratively. 

C.

Elaborative rehearsal involves considering the meaning of the information.

D.

Both types of rehearsal can keep information available for a short time.

92.

In 1987, Bahrick and Phelps compared the performance of participants who had originally learned and then relearned Spanish vocabulary by testing them 8 years after the teaching session. One group had originally learned and relearned the vocabulary with an interval between learning and relearning of 30 days, and another had learned and relearned on the same day. But 8 years later, what did Bahrick and Phelps find?

A.

The participants who had learned and relearned with a 30-day interval performed at a slightly higher level than the same-day learning/relearning group.

B.

The participants who had learned and relearned with a 30-day interval performed at a slightly lower level than the same-day learning/relearning group.

C.

The participants who had learned and relearned with a 30-day interval performed at a significantly higher level than the same-day learning/relearning group. 

D.

The participants who had learned and relearned with a 30-day interval performed at a significantly lower level than the same-day learning/relearning group.

93.
Spaced retrieval practice ____________.
A.

Maximizes learning with minimum effort applied at the optimal point

B.

Shows that memory is strengthened most when recall is attempted just before it becomes to difficult to accomplish

C.

States that with each successive practice delay can be increased

D.

All of the above

94.

Which retrieval practice shows the greatest benefit for recall of information?

A.

Short intervals

B.

Moderate intervals

C.

Expanding intervals

D.

Long intervals

95.

All of the options below show mnemonic techniques, but one carries an INCORRECT description. Which one is wrong?
A.

Linkword system – involves linking words directly without the use of images. 

B.

Pegword mnemonics – method for remembering items by imagining them interacting with a learned set of peg items.

C.

Imagery mnemonics – have been developed to tackle a range of practical memory problems.

D.

Method of loci – its use is limited by the availability of suitable material to image.

96.

Which is an example of the linkword system?
A.

Richard of York Gave Battle in Vain (colours of rainbow)

B.

The French for tablecloth is nappe, so imagine taking a nap on the tablecloth

C.

30 days hath September, April, June and November…

D.

Linking items to the image of places
97.

Which is an example of pegword mnemonics?

A.

Representing the number 21 as ‘net’

B.

Remembering the number 21 as occurring in London

C.

Recalling that 7 X 3 = 21

D.

Telling yourself a story about 21 monkeys jumping on the bed

98.

What are people in the real world most likely to do when attempting to learn something?

A.

Schedule activities to improve areas of poor learning

B.

Schedule study time emphasizing things we like and know well

C.

Adequately judge how well we have learned material and apply to studying
D.

None of the above
99.

How accurate are people at judging how well they have learned something?
A.

If judgment is made soon after studying we are poor at predicting performance

B.

If the judgment is made after delay we are better at predicting performance

C.

We are poor at predicting performance regardless of when asked

D.

Both A and B

100.

Metamemory refers to:

A.

The understanding that people have of their own memory. 

B.

Having exceptionally good memory ability.
C.

Having very poor memory ability.
D.

Remembering personal details from very early childhood.
